Apartment in Siggiewi



Siggiewi, Central



€330,000

Total Rooms: 8

Bathrooms: 2

Floor Area (m²): 118

Reference No: 240351001-61849

P☐ Bedrooms: 3

Apartment - For Sale - Siggiewi

SIGGIEWI - New DEVELOPMENT in the heart of this town, consisting of 1 Ground floor MAISONETTE, 7 APARTMENTS and 1 overlying PENTHOUSE. All units are to be sold finished excluding bathrooms and internal doors. Typical accommodation comprises an open plan kitchen/dining/living, 2/3 bedrooms, main bathroom, shower en-suite, walk-in wardrobe, laundry room and yard/balconies/terraces. Block is targeted to be fully finished by March 2026. Freehold. Optional 1-car lock-up garages available for sale.

Features

- ✓ Lift
- Walk in Wardrobe
- ✓ Water Utility
- Passenger Lift
- Back Yard

- En Suite
- Entrance Hall
- Electricity Utility
- Double Glazed

Rooms

- Kitchen/Living/Dining: 7.9 x 5 m (39.5 m2)
- Double Bedroom: 3.15 x 3.85 m (12.13 m2)
- ✓ Double Bedroom : 4.2 x 3.5 m (14.7 m2)
- ✓ Walk In Wardrobe : 1.9 x 2.8 m (5.32 m2)
- Shower Ensuite : 1.15 x 2.8 m (3.22 m2)
- Double Bedroom : 3.9 x 3.25 m (12.67 m2)
- ✓ Bathroom : 2.8 x 1.7 m (4.76 m2)
- Laundry: 1.75 x 2.65 m (4.64 m2)
- Open Space : 1.9 x 1.75 m (3.32 m2)

Gallery





RE/MAX Malta - BDV Sales RE/MAX Malta - BDV

M: 22471300

E: bdv@remax.com.mt

T: 22471300

RE/MAX Malta - BDV

29, Realco Building, Level 1, ,Achille Ferris Street , Msida, Malta